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Plancu's constant (h), speed of light in vacuum- (c) and Newtons grawtatlonal constant (G) are

- taken as three fundamental constants.
: dimensmn of Iength

e PART I
. Answer al/ tile questmns. " 2 Choose the correct answer. - (15x1=15)
f the force |s proportmnal to square of velocnty, then the dimension of p- oporttohallty constant lS

‘Which_ of the following combinations of these has the

G _ gt s
by [

| &
T R : ' N
LR e o d) 73
* One of the combination from the fundamental physical constant is l’éﬂ . The unit of this expression is -
a) m : b) Kg? c) m3 d) s!
Which of the following has the highest number of significant figure
a) 6.3200] b) 0.007m?
C) 2.64x10%kg d) 0.0006032m?

A Physical Quantity x is given by i;b;—
Jd
are 4%, 2%, 3% and 1% respectively, then calculate the percentage error in calculation of x
a) 15.5% b) 17.5% . c) 18.5% d) 16.5% . .
Identify the unit vector in the following

2) = '*J b) i+] Y/ d) k- V]

If the bercehtage errors of measurements in @, b, cand d

A

If the velocity is v = 27+t - 9k, then the maanitude of acceleration at t=0.5s is

a) Ims? b) 2ms™ c) Zero d} -1ms?°
An object is dropped in an unknown planet from height 50m, it reaches the ground in 2s. The
acceleration due to gravity in this unknowri planety is

a) 20ms? b) 25ms-? c) 15ms”? d) 30ms?
If an object is thrown vertically up with the initial speed 'u’ fro n the ground, then the time taken by

the object to return back to ground is
. b) L c) :l"‘ d) 29

a) _2_g_
A particle is in circular motion with an accele *aho.\ a=0.2 rad s?. Whatis the angular displacement

made by the particle after 5s? _
a) 5 rad b) 2.5 ra c) 1.5 rad d) Zero
If two object of masses 2.5kg and 100kg experience the same force of 5N, what is the acceleration

experienced by each of them rermtonv (in ms )
a)l, 1 b) 0.05, 2 )1, 1% d) 2, 0.05

A particle of mass 2kg experiences two forces f, = 57+ 8] + 7K; F, =31-4]j+3k what is the

acceleration of the particle
b) 5 = 4§ + 25« 5k
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“Two masses m, and m, are expariencing the same forc'g,jwhe,e“,;,;gm_ “The rat

_acceleration ;- is

R PR b) less than 1. ¢) greater th | Tl
14, - The centiifugal force appears to cxist . )9 ans d)vA" e three (e
-~ a) Only in initial frames b; Only in rotating frames ;
~ ' ¢)Inany accelerated frame . _d) Both in inertial and non-inertial frames
15, When the object is moving at constant velocity on the rough surface : R
. .a) Net force on the object is ZERO b) No force acts on the object ~
c) Only external force acts on the object d) Only kinetic friction acts on the object’
: PART - II ' ’ ; i
Note:Answer any 6 Questions in which Question No.24 is compulsory. (6x2=12) .
1% 16. . Define One Newton. y317. State Lami's theorem. i
L% 18. Find momentum of the equation y= ut-%gtz.
1119, Write Range of Time Scale and Messes. |120. Define Triple point of water. -1
i1 21.  Check the correctness of the equation correct/wrong by dimensional method- s =Ut+%at’-

. 22, State Triangular law' of Vector. »
i e 23. - Write the equation of motion. (only equations)
., 24.  Anaverage speed of train is 54km h-! when applying brake, it st/ops at 225m. Calculate the retardation

%, of the moving train. |
PART - III .
Note:Answer any 6 Questions iri which Question No is 29 compulsory. (6x3=18)
L\ 25. Write down the limitation and applications of Dimentsional analysis. _ R
L\ 26. Write down the significant figure of the following.
i) 600800 - i) 5213.0 iii) 400 iv) 2.65x10%m v) 0.007 vi) 0.0006032
L\ 27.  What is called significant figures of digit? Write any three rules with example. '

1928, Write down any five proporties of multiplication of vector by SCALAR?.

+229, If f = 27+ 35+ 5k and F = 37 — 2§+ 4k find the resultant vector of T=T x f.

1\ 30. Discuss Degree and Radian. ' '

++31. What is Inertia? Write down its types. - :

1532, Explain the mation of blocks connected by a string in (i) Vertical motion (i) Horizontal motion
.3, 33.  Why it is not possible to push a car from inside?

_ PART - IV :
Note : Answer all the Questions. ~ o ) o (5x5=25)
Assuming that the frequency (v) of a vibrating string may depend upon _ :

i 34. . : .
' (i) applied force (F) (i) length (1) (iii) mass per unit length (m), prove that v « }\/;: using
' dimensional analysis. . (OR) ; : 3 :
-~ ~-— . What is Errors? Explain its types. . _ . i ‘ |
L) 35. If the value of universal gravitational constant is SI is Gy = 6.6x10"'Nm?Kg?, then find its
A - value in CGS system. . (OR) . . N
bt~ - What do you mean by propagation of errors? Explain the propagation errors in addition and multiplication.

« .36. Derive the equation of motion, range and maximum height reached by the particle thrown at ar

obligue angle 6 with respect to the horizontal directions. ~ (OR) .
\ 8 Theqpositign vectors particle has length 1m and makes 30° with x-axis. What are the length:

~ of x and y components of the position vector?

o . (i) Displacement (if) Distance Travelled (i) Velocity
ik s 8\)/) sppeed (V) Acceleration ~ (OR) '_
d forth. Resolve the forces acting on the bob ints

. A bob attached to the string oscillates back an

ts. What is the acceleration experience by the bob at an angle 0. . ;
.38 g?]rg%cj)gcetnis thrown with initial speed of 5ms, with an angle of prOJ?zt}?)n 30°. What is the heigt

and range reached by the par’ci'cle_. _ . ; ,
Prove the law of conservation of lineal mo"mentum. Use it to find the recoil velocnt‘y of a gun whe

1.5 abullet is fixed from it.
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Note: Answer all the questions. iy ‘ e Al S ]
. Choose the best answer. ' (15x1=15) '
- 1. Unit of Angular acceleration is i R ke

a) rad-s™ 3 b) rad m*!
e c) rad s d) rad m’
B v2. Triple point of water is : g
a) 273.16 k b) 237.16c
_ c) 273.16¢ : d) 0k
3. If n=3.14 then the value of n* is :
a) 9.8596 b) 9.860 .
c) 9.86 ' d)9.9 -
4. Mass, Temperature, Electric current are
- a) Fundamental quantities b) Scalar quantities

~ ©) Vector quantities d) Both a and b
5. If the velocity is ¥ = 2i + t2j - 9k then the magnitude of acceleration a
a) 1 ms? b) 2 ms-2
C) Zero d) -1 ms™?
6. A bus is moving with a speed of 10 ms™ on a straight road. A scooteri
in 100 s. If the bus is at a distance of 1km from the scooterist, with what spee

scooterist chase the bus?

L 0B fsan S

st wishes to overtake the bus
d should the

a) 40 ms™! b) 25 ms™*
] ¢) 10 ms™! 1 ' d) 20 ms™!
7.~ Earth moving about sun in elliptical orbit is an example for
rent direction

a) Force and motion in same direction b) Force and motion in diffe

c)'Fo,rce and motion in opposite direction  d) Zero net Force ,
8. When a car takes a sudden left turnin the curved road, passenger is pushed towards the right due to

a) Inertia of direction b) Inertia of motion
c) Inertia of rest d) Absence of Inertia

9.  Anobject of mass m begins to move on the plane inclined at an angle 8. The co-efficient of static
friction of inclined surface is p,. The maximum static friction experienced by the mass is :
a) mg b) p, Mg : |
c) p, Mg sin 0 d) p,mg cos 0

10. The work done by the conservative force for a closed path is
I ' b) Zero

a) Always negative

c) Always positive _ ' d) Not defined
11. 1 kwh is equal to \

a) 3.6x10%J b) 3.6x10° ]

c) 3.6x10%J _ d) 36x10°J
12. Co-efficient of restitution, for an elastic collision is’

a) e=-1 ‘b) e=0

c)e=1 : d) e=2
13. A couple produces

a) Pure rotation b) Pure translation

d) No motion

¢) Rotation and translation
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oment of inertia of a Thin rod about and axis passing through the rceht'r‘e,'a”nd perpendic

Them
“ the length is Bt
TAYMIES3 ettt R M T
Sy ML A e Ui rd) MIEb)/12

_The centre of mass of a system of particles does not depend upon . - - e s
- a) Position of particles - ; : b) Relative distance between particles

- ¢) Masses of particles d) Force acting on particle '

: Y : TN PART -II o

' Note:Answer any 6 Question. Question No.19 is compulsory. i

' What are the advantages of SI system?

What is fractional error?

Define Position Vector? : e
What is the angle of projection to have a maximum Range in kitti pull'? If one strikes kitti pull

with the speed of 98ms-! what is the maximum Range achieved?
What is Impulsive Force?

State Lami's Theorem?

What is power? Give its Dimensional formula?

What is the condition for perfect inelastic collision?

State the law of conservation of angular momentum.

PART - III
Note:Answer any 6 Question. Question No is 31 compulsory.
125,  Find the dimensional formula for hC/G?
L 126.  Write the rules for determining significant figures.
\2-27. Drive any two equations of uniformly accelerated motion by calculus Method.
. 3.28. Is zero Relative velocity possible? Explain. 3
A 29. A mango is hanging from a tree, draw a free body diagram relative to this event. Find the tension
G acting on the mango. (Mass of the mango is 400g).
o 1330, Whatis centripetal force? Give its formula.

15,

(5x2£iz) g

(6x3=18)

R

. ,31. Aboxis pulled with a force of 25N to produce a displacement of 15m. If the angle between the
: farce and displacement is 30°, find the work done by the force. :
L4 32, What are conservative and non-conservative forces?
. _¢33. Define centre of Mass and centre of gravity.

PART - IV

| Note:Answer all the Questions. (5x5=25)
L\34. a) What are the applications of dimensional analysis. Verify S=ut+1/2at? by dimensional analysis.
i (OR) \ o\
\9 b) Explain the types of equilibrium with suitable examples. '
. 1135. a) Explain triangulation method and RADAR method to measure larger distances.
e , (OR) ‘
- LM b) Arrive at an expression for velocity of objects in one dimensional elastic collision.
- 1236, a) Explain in detail the triangle law of Vector Addition.
i : (OR)
| +%b) State and prove parallel axis theorem. :
37.: »a) Prove that the path followed by the projectile under an angular projection is-a parabola.
: : : (OR) ’
i - b) Compare static friction with kinetic friction.
38.1%a) State Newton's laws of motion and explain briefly.
| (OR)
_ .. b) State.and Explain Work-Energy principle.
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2. Choose the correct answer-
1. Acouple produces _
~ . a) Pure rotation b) Pure translation
- ¢) Rotation and translation d) No mation.
‘2. Arigid body rotates with an angular momentum L. It its

momentum becomes
ayL:7 b) / ) 2L ; d) yﬁ

A round object of mass M and radius R rolls down without shppmg along an inclined plane. The

frictional force ' ;
a) dissipates kinetic energy as heat E
b) decreases the rotational motion
¢) decreases the rotational motion and translational motion
d) converts the translational energy in to rotational energy
! - A solid sphere of mass 20kg and radius 0.25m rotates about an axis passing through the center
. what is the angular momentum if the angular velocity is 5 rad s :
a) 2.5kg m?s-! b) 20kg m?s™!
c) 0.5kg m?s™! d) 4kg m?s!
5.  The gravitational potential energy of the moon with respect to earth is
a) Always positive b) Always negative
- ¢) Can be positive or negative d) Aiways zero .
6.  If the mass and radius of the earth are both doubled, then the acceleratlon due to grawty g

a) Remains same b) g/2
c) 2g d) 49
7.  The Kinetic Energy of the satellite orbiting around the earth is
a) Equal to potential energy b) Less than potential energy

¢) Greater than kinetic energy ©d)Zero
If the ratio of the orbital distance of two planets d /d,=2, what is the ratio of gra\ntatlonal field

Kinetic Energy is halved, thé'angular

8.
experienced by these twe planets
a) E,=4E, b) E2=El
C) 4E2=E1 d) Zero

9.  With an increase in temperature the viscosity of liquid and gas, respectively will
a) Increase and increase b) Increase and decrease
) Decrease and increase d) Decrease and decrease:

10. The Young's modulus for a perfect rigid body is :
a)o b) 1 c) 0.5 d) Infinity

11. The wettability of a surface by a liquid depends primarily on
b) Surface tension

a) Viscosity

’ c) Density d) Angle of contact between the surface and liquid
12. At the critical temperature of water, its surface tension is

a) 10 Nm b) Zero

¢) Infinity d) 72 Nm-!
13. The graph between volume and temperature in Charles Law is

a) an ellipse _ b) a circle

c) a straight line : ' d) a parabola

{  11-Phvsics-1 . .
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. i ;V uumﬁ ot One gram mo!e Of d Qas at norma! temperature and pressure cnndltuon is L
a) 224 lter... " b) 11.2 liter _ G

SRR C-) 224 lver d
g o 10.2 liter
CA30 S1 unit of Stefan's wnstam : 5
ayWnrt. oo ; ; Sl e b) Wm-2 k4
c_; mk : d) Wm? k*
. il | = L PART - 11
| Mate : Answor any § questiens. - : : it g s
s Puestlon Mo, 37 is compulvary ‘ - (6x2=12)
£ 16. State the law of conservation of angular momentum. ;
If its radius is 1.5m and angular

] 17. A rolling wheel has a velecity af its center of mass as 5ms”
velocity is 3 rad 51, then check w thether it is in pure rollmg or not

_big. Define G ravitational Potential.
%15, Why is there no lunar eclipse and solar eclipse every month?
f 20, State Hooke's Law of elasticity. '
L2-21. Distinguish between stre,zmhned flow and turbulent flow.
L2722, Define angle of contact for @ given pcm' of solid and liquid.
~%23. Define specific heat capacity and give its unit. : ) §
_$24. State Zercth Law of Ther n‘nod,fnam:cs _ :

PART - IIX

Hote : Answer any( questicns. '
. Question Mo, 3115 compsary (6x3= 13)
11525, Define radius of gyralisn., Derive an expression for it.
¥'26. How do you dn“t'nguzsn between c:t-xb!e and unstable equil
. L\«Zl State Kepi€r's Law, ,
W28, Whatis Geo stationary and Pelar satﬁilue?
f 2 L\D 29. Consider a sateliite orbiting the earth in a circular orbit of radius 1600km above the surface of the .
aarth. Whst is the acceleration experienced by the satellite due to earth’s gravitational force. '

%30, Define Three moduli of elasticity. e
- 31. ,Asdlid "pncre has & radnur of 1.5cmand a mass of 0.038kg. Calculate the specific gravity or relative -

densﬂy of the sphere
ﬁ 32. Obtain an ideal gas law from Boyie's and Charle's Law.
Discuss the various Mot des of heat transfer.

!hnurn‘?

G
: PART - IV ' : | _
Na‘fes » Answer sl the questians. s ‘ - (5x5=25)
§ 34, Discuss rofling o inclined plane and arrive at the expression for the acceleration.
(OR) '

of g acceleration due to gravity with altitude and depth.

L\ Explain the variation
\, 35. Define escaps velocity. Derive an expression for it
' (OR)

L Derive an express: on for the time period of an orbiting satellite.
lerive an expression for the same.

36, Define Terminal ¥ socity and
(OR)
L% Define ‘-}urf o tension, Vehat are it's application. .
4.37. Stale and prove aernoulii's teorer for a fiow of mcompressnb!e non-viscous and stream lined flow
’ o oF :SC}UL; (QQ}
L% Deszcribe the constraciion and working of venturimeter and obtain an eypressmn for the volume of
it figuid flowing B2 r second mrwqh a wider entry of the tube.
¢ 38, Explainin detell * seveton's Law of cooling. .o g
' C s {OR) '

Derive Mayer's relation for an ideal gas.
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Note : i
_ fe ¢ 1. Answer all the questions. 2. Choose the best answer.

10.

I,

12.

13.
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PART - I S s
(15x1=15)

If the length and time period of an oscillating pendulum have errors of 1% and 3% respectively then

the error in measurement of acceleration due to gravity is

33 4% b) 5% c) 6% d) 7%
hich of the following physical quantities have same dimensional formula?

a) Torque and work done _ b) Energy and angular momentum
c) Force and Torque ' d) Angular momentum and linear momentum

If a particle has negative velocity and negative acceleration, its speed
a) Increases b) Decreases

€) Remains the same d) Is zero
An object is dropped in an unknown planet from height 50m. It re

acceleration due to gravity in this unknown planet is :

a) g=20 ms™? b) g=25 ms™ ) g=15 ms?? d) g=30 ms™

A force vector applied on a mass is represented as F = 61 - 8] +10kand accelerates withy2ms™.
What will be the mass of the body?

a) 10kg - b) 20kg c) 10y2kg d) 2.iokg

Two masses m, and m, are experiencing the same force where m1<m2. The ratio-of their

acceleration a,/a, is ‘ :
a) 1 b) less than 1 c) greater than 1 d) all the three cases

When an object is at rest on the inclined rough surface
a) Static and kinetic frictions acting on the object is zero
b) Static friction is zero but kinetic friction is not zero

c) Static friction is not zero and Kinetic friction is zero

d) Static and kinetic frictions are not zero \
What is the minimum velocity with which a bo
that it can complete the loop?

a) V2R - b) 3R 3 R d) JoR

The coefficient of restitution (e) for a material is as follows
a) e=0 b) e=1 c) O<e<1 d) 0>e>-1

A rope is wound around a hallow cylinder of mass 3kg and radius 40cm. What is the angular
acceleration of the cylinder if the rope is pulled with a force 30N?

a) 0.25 rad s b) 25 rad s?
c)5ms? d) 25 m s

The magnitude of the Sun's gravitational field as experienced by Earth is

a) Same over the year
b) Decreases in the month of January and increases in the month of July

c) Decreases in the month of July and increases in the month of January

d) Increases during day time and decreases during night time

For a given material, the rigidity modulus is (1/3)© of young's modulus. Its Poisson's ratio is

a)0 b) 0.25 ¢) 0.3 d) 0.5

A hot cup of coffee is kept on the table. After sometime it attains a thermal equilibrium with the
surroundings. By considering the air molecules in the room as a thermodynamic system, which of

the following is true? f
a) AU>0, Q=0
c) AU>0, Q>0

aches the ground in 2s. The

dy of mass m must enter a vertical loop of radius R S0

b) AU>0, w=0
d) aU=0, Q>0

( 11-Physics-1 J
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€. eTiciency of a.he: nvorking between the freezing point and boiling poil
meRn L oy g ae% s ) DS
: ._r'_..,;-'_'.»»"ix.{'_‘?ensmn of sphere of influence of moleculesis - . o
.?.‘c_,)_‘ Sl 'b) 10A e ) 100R SdyorA et
‘ : L PART SIL S o e B e
: L paami gy

A Hote:  Answer any 6 Questior:s in which Question No.20 is compulsory.
"L\ 16, What are the limitations of dimensional analysis? - s

-~ \.%17. Compare scalars and vectors. : ‘i
1.%2,18.  Give the various types of friction. Suggest a few methods to reduce friction..

w119, Differentiate elastic and inelastic collisions. _
1.4 20.  Calculate the work done by a force of 30 N in lifting a load of 2 kg to a heig

L‘*? 21. How do you distinguish between stable and unstable equilibrium?
\.\222.  Why is the energy of a satellite or any other planet negative?-

L7223, State Hooke's law of elasticity. _ : -
o %24. In an adiabatic process with an equation PT"*, the pressure of a gas is found to be proportional to

the cube of the temperature. What is the ratio of C, / C, of the gas?

ht of 10 m (g=10 m s2).

i : PART - IIX

Note: Answer any 6 Questions in which Question No is 29 compulsory. . ' (6x3=18)
'\ \25. How is the diameter of the Moon measured using parallax metnod? ;
L.%26. Write a short note on vector product between two vectors. ' A
\.1327. Explain the concept of inertia. Give examples for inertia of motion, inertia of rest and inertia of

direction.
LL\ZB. Compare conservative and non-conservative forces.

L§’29. The position vectors of two point masses 10kg and 5kg are (31 + 2§+ 4k)mand (37 + 65+ 5k)ym
respectively. Locate the position of center of mass. k.

% 30. State Kepler's three laws. x
d turbulent flow.

731, Distinguish between streamlined flow an

w32 Obtain an ideal gas equation from Boyle's and Charles' laws. -_
h/33. A car moving with a speed of 40km/hr comes to rest at a distance of 2m after applying brakes. Ho

e theé same car is moving with a speed of 80km/hr, what is the minimum stopping distance.

PART - IV

Note : Answer all the Questions. (5x5=25)

L\ 34. a) Explain the principle of homogeniety of dimensions. What are its uses?

: (OR)
1.2 b) State Newton's three laws and discuss their significance.

335, a) Discuss the properties of scalar and vector products.
’ (OR)

\-7~b) Derive the equation of motion for range and maximum heig
an obligue angle 8 with respect to the horizontal direction.
V86, a) Explain the motion in a vertical circle.
(OR)

ht reached by the partidé thrown at

V5 b) State and prove parallel axes theorem.
37, a) What is escape speed? Derive an expression for it.
G | (OR)
\%"b) State and prove Bernoulli's theorem. A%
» 38. a) Discuss the various modes of heat transfer.
“ (OR)

% b) Derive Mayer's relation for an ideal gas.

( 11-Physics-2 ]
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Answer all the questions; .
Choose and write the correct answer. Ox1=11(
- Two masses m, and-m, are experiencing the same force

e "whiere"m1<m2. The ratio of theti)r ala_ccei%rqatiorll al/azis
et SN D e essthan1l
T %?Greater than1 . .~ d) Al the three case
- 2. Tension of the string (Lamis Theorem) (T)
e OO et gL 2cosh : i
iid)-mg o cost b) 5 cosh ,C) e d) mg sin@
: A . SN
- 3. The dimension of (., £,) 2 4 :
- a) Length b) Time .- ¢) Velocity - d) Force
4, Which of the following has the highest number o significant
oo e ' b) 2.64x10%kg o
~a) 0.007m g .64x10%kg :
. ¢)0.0006032m? : ) 6i9200] 020"
5. The velocity of a particle 'v' at an instant 't is given by
‘V=at+bt? The dimensions of b is ) LT3
i o) 32L B t;I)LT—T., f O LT d)L
6. If r=3.14, then the value oF n°1S | A0
" ) 0859  b)9.860 - 0986  d)99
7. - Identify the unit vector in the following -~ = =~
| B O e d)Lil ‘
a) T+75,20980h) = agdiodPEEle e LA
S AP, building and it
" 1f an obiect is dropped from the top of a C H o
5 EQ:Ches%he grgunc? at t=4s, then the height of the g",dmg _
- in (g=9.8 ms™) | _ , o d)79.2m
R e 9% B
R ..-Qrgrglnp\;}/gg.m% éagme'to rest within a distance of 225m...
| ' Calculate the reta{'dation _ig thecg"rgl%ms_z | d)' ims?
. a)0.1ms™ b) 0.5ms d BxA are equal in magnitude |
10. Vector produceg.ofdf?gr?gn ~BX . A
: " even resultant dire . icular d) Paralle
S}’ ‘Along b) Oppcg_lﬂ:ce z? Perpendicular _\). |
" - PART - . Ak i
: ™ came i WhHI vestion Ko.s
71 Apswer any 5 questions il ",*’.’”C”_Q  (5x2=10)
4 campg_[/ﬁﬂf}fc it L'_ \ ; o , “ \
' ’ two features of SLunits. == - oy Lt -
%% 'Whyat-is called Chan(ireself<harolr'5m olfE 'Ké(-:.:l?Z mv2 if mass and
13.. Calculate the percentage 7 farre of error 3%, 4% respectively. L]
. velocity are vanies the percentag | T 11-Physics-1
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i) Scalar

. Define: i) Vector
. - State Triangular law of vectors !
Calculate the Resultant vettor producers of vectors i

- A=4i-djskand B-5ii3j-4k

17.  State Lami's Theorem. .
8 When walking on ice one shou!d tdke short qteps Why7 :

PART - ITI

e i!.l; Answerany5 q:)est/ans Questlan No.23 s Campulsarlly
' - (5x3=15)

- 1,}*19. ~ State Newton'’s Thlrd Law Moreover Define Newton.
, 20, What is the readmg shown in spring balance?” :

Sk R Lsﬁ_'ﬁﬁ',—\—‘?j ' g
; gk g ,@ /nﬁ ® @'5" m=2kg

\

L2-21.  Write Kinematic equation of an object for constant acceleratlon 4
v->22. Define (Horizantal Projection) (i) Path  (ii) Time of flight
23. . Two Trains A and B moving along parallel Tracks with the -
. same velocity in the same direction, the velocity of each
train be 50 km h-*. Find the relative velocities of the Tram

L-124.  Write limitations of Dimensional analysis.
bl 25. Check dimensionally the equatlons are correct (or) Wrong ,

1/2mv?=magh.
1,\ 26.. Write down any three Rules of 'Slgnlf cant Flgures

, PART - IV
IV, Answer all the questlons - (3x5 =15 )
Obtain an expression for the Time penod Tofa S|mple "

!/r

H 27.
pendulum The time period T depends upon
E i) Mass 'm' i) Length 'l' and
o)) (m) Acceleratron due to gravrty 'g' at the plare (K 27r)
' {OR)

| "\ _‘}_ i If the value of universal gravrta'tlonal constant in SI is
T 7 6.6x10 Nm? Kg, the find its value in CGS system. =~
- 28.  Write down any five propotrtiés of scalar product of, (vector)

or vector product of {vector). - {OR)
A particle moves in a circle of radius 10m. Its’ linear spepd

G5 s given by v=3t, where t is second arid v isin ms-1

a) If t=2s; find tangentlai acceleration. .
.b) Angle between the resultant acceleration and the radlus vector .

29. If two objects of masses 25kg and 100kg experience the
72— same forces 5N, what is the acceleratlon experlenced by -

"each of them?- .- (OR)
i3 Findthe acceleratfon of an obJect moving in an mclmed plane

C11- PhySIcs A
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wpadnAMNIT TEST -I1- 2018 A 0 “pk% -1
o XI - PHYSICS
S e, SR L e g e 50_

|\ TFimer 1-30 Hrs. ; 5
. Answer all the questions. . : ot
.. L Chooseand write the correct answer. (10x1=10)
-~ 1.  The center of mass of a system of particles does not
.o depend upon A5 ‘ it 2
a) Position of particles : '
: -bg. Relative distance between particles g
- €) Masses of particles- - d) Force acting or particle
2. - The speed of the center of a wheel rolling on a horizontal
surface in V,. A point on the rim in level with the center

will be moving at a speed of
a) Zero b) V, OBV, d) 2V,
The movement of Inertia about an axis passing through

- the center of a thin hallow sphere
a) 5§MR2 b) gMR2 c) §MR2 d) %MR2
4.  Acouple produces.” . '
a)) Pure rotation | b) Pure translation
) Rotation and translation . d) No motion
What is the minimum velocity with which a body of mass
o that it can

5.
-~ in must enter a vertical loop of radius R s

complete the loop?
b) /3aR c) J5gR  d) /ar

A a) +/29R
*6.  The workdone by the conservative force for a ciosed
pathis o
- a} Always negative b) Zero
.c) Always positive d; Not defined
/. A spring of force constant K is cut into two pieces such’
A that one piece is double the length of the other. Then
the long piece wiil have a force constant of :
a') 2/3K - b) 3/2K c) 3K d) 6K
8..  If the potential energy of the particle is a-2x t%en the
force experienced by the particle is g :
b) F=[x ) F=-px  d) F=-Bx

e a) F= gxz
G TR cen_trif_ugal. force appears to exist .
~a) Only in inertial frames b) Only in rotating frames

c% In any accelerated frame
Both in inertial and non inertial frames

d
10.  Force acting on the particle moving with constract speed is
a{ Always zero bg Need not be zero
- C Always non zero d) Cannot be concluded
' - 11-Physics-1
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e PART Bl
£ AN 'An.s-wer any.a t;uest ans ' e s g
. Question No.15 is compulsory.._ oo EiaG 5X2—~10«) -
> 11.- What is impuise. v e i iy
A1 Defihe static friction. > = "2 S .
13. . Write the differerices between conservatlve and non -
‘. . conservative forces. -
LW 14.- Derive the relation between momentum and kinetic enelzrtJ
A A weight lifer lifts a mass of 250kg with a force of 5000 ho .
FALT - the height of 5m. »'Vhat is the workdone by the weight
: lifter? L - &

< 16. Define cehter of mass.., - o _
Define torque and mention his unit.

€18, What is equilibrium.

: PART - IIX . ;

.. IIL. Answer any 5 questions. i i AR
. ' Question No.21 is Compulsory. . - (5x3=15)
L 6°19. Give relation between rotation kinetic energy and angular

" momentum.
State the law of conservation of angular momentum

L4720, -

A cychst while negotiating a’ circular ‘path with speed
20ms- is found w bend an angle by 30° with vertical.
= -What is the radius of the circular path. (given g= 10m92)

- LY 22, Compare elastic collision and inelastics collision. "
v W23. State the relation between power and velocity. ‘

Compare concervative forces and non conservatlve forces

.A l/‘q2.4.

1. 225." What is angle of Repose. A _
- ~26. Identify the internal and external forces actmg along the 2y
= ‘*-'3_ ~ earth alone as a system. | | |

PART - IV

- IV. Answer all the guestions. - (3x5 15)
\»27.  The moon orbits the Earth once in 27. 3 days is an almost
o T circular orbit. Calculate the centrlpetal accelerat.on

experienced by the Earth? (R=6. 4x10°m) (OR)

-+ Explain the need for banklnq of tracks.
* Explain the elastic collisions is one dimention. (GR)

4O
State and explaln Work energy princgp!e Menbon any three

ek 'examples for it.
X29. D h
erive the express:on for moment of Inertla of a umform

] L‘}‘ A
. ring aboutan axns passing the center and perpendlcular to .

_ the plane. . T (oRy)
<~ State and explaln parallel aXlS theorem and
axis theorm. | ' | Perpendlcular
11 Physqu—Z -
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wm TEST-‘.- -xn- 2019 E'm' i3

R XI PHYSICS Qe
2'7m : 1-30 A e Marks. 50|
s . PART- I '
;_,Answerall tfre questions. ot R
- L. - Choose and write the correct answer, (10x1=10)
. -1.  Acouple produces ‘ R . ‘
~ . a) pure rotation b) pUre translation
, . c)rotation & translation . d) nomotion
v’ 2. Arigid body rotates with an angular momentum (L) if its
S kinetic energy is halved the angular momentum becomes
s iva) shy L2 ¢y 2L d) L/vZ
‘3. If the masses of .the earth and sun suddenly double, the
gravitation force between them will - '
a) remain the same b) increase two times
- .©)increase 4 times d) decrease two times-
4. If the distance between the earth and sun were to .be
.- doubled from its present value the number of days in a
- yearwould be , ,
.. a)64.5 - 'b)1032 c) 182.5 d) 730
5. Ifawireis streached to double of its oregmal Iength then a
- ‘strainin' thewireis,
v jadil s NSRS . SE 3 a4
6.~ Which of the following is not a scaier
1 a)viscosity | 'b) surface tension
C) pressure . .d) stress
*=7.  The graph between the volume and temperature in
Charle's Law is |
a) an ellipse b) a circle
| ¢) a straight line d) a parabola
8.  In an isochoric process, we have
a) W=0 b) Q=0
| c) U=0 d) T=0
9,  Unit of specific heat capacity
a) J kg k2 b) J kg k!
c) J1 kg k! d) 3 kg k ,
. 11-Physics-1
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h) wm’« o
, d) ML‘F’
S " PARTIE
ﬁn»wer % WwE que.stlans. :

iy L"» 11. * Define Torque and mention its unit.
.12, State conserv.ition of angular momentuin.
1.\13.  State Newton's universal law of gravitation.
Ak 14 \"uhy is there no lunar eclipse and solar eclipes? :
Lad5-  Awire of length 2m with the area a cross section 179-m? ic
used to suspend a load of 980N. Calculate stress ‘
V& 16. Defind One mole.
¢ 17.  State Zeroth Law of Thermodynamics.

PART - III

III. Answerany 5 guestions. .
Question No.21 is Compulsory, (- 53 3=15)

: equlibrium?

19,  What are geostatlonary and polar satellites?

« 20." Explain the variation of "g" with 2ltitude.

/21 A sclid sphere has a radius of 1.5cm and a mass of 0. 038kn

calculate the specific gravity or relative agensity of sphere.: -

Y, ,(*-22 - Write the applications of surface tension.

(K23 Discuss the ideal gas laws.
W8 24, Explam in detail Newton s law of Cooling.

I Aﬁswer alf &ie qyegfmﬂﬁ, T (3eb=15)
LE 250 a) Derive Mayer's Relation for an ldeai gas, : . "
- (OR)

s

. l:) Compare Transiatiof motion and Rotational motior:. A
,»-26. a) State and prove parailel axis theorﬂm and perpendlculas

¥ \ :
i axis theorem.
S , (OR)

VT b) Explain in detail the Erathosthemes method of fi ndmg

: the radius of Earth. _

, + 27.  a) Derive and expression for escape speed.
e O .A 3 (@ﬁ?}
b) State and prove Bernouli's theorm.

Y
Y
R

e

- {uestion No.14 is compulsory. = (5,1,'2';7_ o)

el

¢18. How do you distinguish between stable and unstable . -

11-Physics-2 -
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i

] Exam' No’, |

: FIRST REVISION TEST - 20 19

10.
11

12,

<13;

14,

-'f-’""__‘-’:-goﬁfs _XT - PHYSICS . Marks 70' l:;
‘  PART-T T

No‘teA 7 Answer aII ﬂre questlans. Ve PR _
; 2, Choose the most suitable-answer fram the glven four alternatlves and write the opt:on code
One of the combination. from the fundamental physlcal consbants is hc/G The umt of thls expressmn s

4 a)kg? - ‘ -b)-m?

I a person moving from pole to equator, the centrifugal force acting on hnm i

- a) Increases :
-" c) Remains the same - d) Increases and then Decreases
* The workdone by the conservative force for a closed path Is : i
d) nor defined

~ a) Always negative
A rigid body rotates with an angular momentum L.

: “momentum becomes : :
- a)l L b) L/2 ' By PLs ot : d) L;Ji
" Moment of force is called ' '

' open at both ends is all

2)8/3

and the camespanding answer. (15x1=1 5)
. ) 8% i s ) e T e
“If a particle has Negatlve velocity and Negative acceleration, its. speed R e

a) Increases b) Decreases ¢) Remains the same- d) Zero

b) Decreases

b) Zero - c) Always positive : :
If its kinetic energy is halved, the angular

~ ©) Couple d) None

- a) Angular momentum b) Torque

Two masses of 2g and 6g are moving with equal Kinetic energy. The ratio of the magmtudes of their

linear momentum is

a)1:2 . by 2:1- €)2:6 : d) 1:3 :

A ball with an initial momentum 'p' collides normally wnth a rigid wall. If P, is the llneal momentum
.- after-the perfectly elastic collllslon then : S ok
S a)P=p b) P,=—p ¢) P,=2p | d) P=-2p

If the mass and radius of the Earth are both doubled then the acceleratlon due to gravity -

a) Remains the same b) g/2 - €) 29 maXesEs - d)4g S

Which of the following is not a scalar? ]

"d) Stress

a) Viscosity - b) Surface Tension  ¢) Pressure

Identify the state variables given here? i ah h
) QW - dRTQ

a)Q T W ¢ b)P, T, U ’
A container has ane mole of monoatomic ideal gas each molecules has 'f' degrees of freedom. What

is the ratio-of r=c /c,? _
o) ff+2 d) f+2f

a) f b) f/2
Which of the following differential equations represents a damped harmonlc oscﬂlal:or?

d
b) 32 +r-—!+y 0

a) dt? e y
2 ’ .
'C)-;'t—zl+k2y=0» . d) E—+y=0
"Which of the following represents a wave? 2 '
b) x(x+vt) . C) 1/x+vt , e sm(x+vt) ;
and another pipe. B

a) (x-vt)?
An organ pipe 'A' closed at one end in allowed to vibrate in its first harmonic
owed to vibrate in its third harmonic. Both 'A'and 'B' are ln resonance Wlth
he ratio of the length of Aand B is 2% ;
Coedy 33

a given tuning force. T
b) 3/8 c) 1/6-

11-Physics-1
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o ‘What is meant by Negative work? Give example

. S PART o e
vole Answer any6 Questfons In which Quesﬁon No.21 s compulsory, e i (5,(2_,, 1
15 : A gas made of mixture of 2 moles of oxygen and 4 molés of argon at Temperature T Calculate ' e
e ‘the energy of the gas in terms of RT. Neglect the vibrational mode, =~ R
17, Differentiate Simple Harmonic Motion and: Angular Harmonlc Motlon (Only ‘IWo polnts) o
© 18, ‘Define Intensity of sound and loudness of sound

19, Whatis Error? Write Its types. : R
el 20, Write down the Kinematic equations for angular motlon? (only equaﬂon)
21 Arocket with a life off mass 2. 5x10% kg ls blast upward with an initial acceleratlon of 5m5'2 Then i

the initial thrust of the blast is?

i 23, State Parallel axis. (Theorem only)

If the ratio of the orbital distances of Two planetc - s 2, what is the ration of gravitatiOnal field

experience by these two planets.
PART - I1X

i Note. Answer any 6 Questians in which Questton No.27 is compulsory.
1+ 255 Explaln Doppler effect.

26., Why dimensional methods are applicable only up to three Quantltles?
27. The resultant of Two vectors A and B is perpendicular to vector A and its magnitude is equal to half ¢

- of the magnitude of vector B. Then the angle between A and B is? -
~28. What are various types of friction and write methods to reduced the friction.

29. Differentiate conservative force and Non-conservative force.

(6x3= 18) :

30. Distinguish stable and unstable equillibrium. - b
31, State Kepler's Law (only).
. 32. Expression for elastic energy stored per unit volume of a wire. . iy i
33, lee the expression for Linear, Area and Volume thermal expanslons SRR ) i
" PART -1V :
(5x5=25)

R Note Answeral/ the Questions. '
. 34, JuplterIs at a distance of 824.7 million km from the Earth, Its angular dlameter Is measured to be

35.72", Calculate the diameter of Jupiter,
(OR)

Derlve the Kinematics equations of motion for constant acceleration.

35, ~Explaln the simllarities and difference of centripetal and centrifugal force.
| ‘ (OR) .

Explain elastic collision In one dimension and discuss various cases. L
A uniform rod of mass 'm' and length I' makes a constant angle Q with an axls of rotation whlch L

- passes through one end cf the rod. Find the moment of inertia about this axls.
(OR) :

: Explaln the variation of 'g' with depth from the Earths Surface.
37 State and prove Bernoulllis theorem. .
(OR)- A SN

36.

Explain In detail Newton's law of cooling.

38, Describe the Maxwell Bollzmann distribution function, * , ‘

~ Discuss In detail the energy in Simple Harmonic Motion,

“{1-Physics-2
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L. SECOND REVISION TEST - 2019 EmamWo.] | | | [ [ | =
; T'ime:z';.?OVHrs{‘ L XI PHYSICS T R B R A

PART - I . e s
x :Note 1. Answerall the questlons  2:Choose the bestanswer. e e (15x1=15) -
=12 Unitof gravntatlonal constant s ‘ ' o YRR
A ML i ' - b) MILT3
SRR MHISTR L e sy NPT
‘2. . The resultant of two vectors which are mutually perpendlcular fo each other
: '_"a)A"+B2 5 : o e b)m
CELLERCYAED. oo ‘ d) A-B : : wir .
it 3 Relation: between maximum helght and range of an inclined projectile pr03ectecl at an angle of
-~ voprojection 45°. : / W T : 7\1
- a) H=4R - | ' byH=R. , 3 | . £ o
maey o0 ) H=Rf4 _ : - d) H=R/2 G o Sk ;
.~/ 4, If potential energy. of a body is a—B/Z %2, then the force experienced by it is
e a) FEBl2 X b) F=px
~= ) F==px ©d)F=-pf2%2 -
5.~ Potential energy- gamed by an ob]ect of mass 2kg raised to the helght of 5m :
| a) 100J : - b)1000]
: c) 50] - : ©d)200] - i
6. A particle is subjected to the circular motion. Angular momentum is mdependent of the fo\lowmg'-_ e
~ a) centre of cirle - _ _b) any point on the perimeter
¢) any point inside the qrcle ' - d) any point outside the circle

7. . A body of mass M and radius Ris rolling down in an encllned plane, then the fnctnonal force
" a) connerts kinetic energyinto heat
b) reduces rotational: motion
" ¢) reduces rotational and translational motions : : R
- d) connerts Kinetic energy into rotational energy iy : : F F st
8. An amount of work done on earth by the sun in an year ' : 7

a)zero ‘ b) not zero
) positive value d) negative value
9.  Ratio of escape speed to orbital speed .
a) 2i1 : . b) v2:1
Q142 d) 1:2
10. The place at which gravity is maximum when earth rotats about an axis ,
a) equator , b) pole i3
B ¢) both : d) not in both
~11.  When the length of a rod is doubled then the strain i
' a)l : b) 2 . )3 s d4
12. Young's modulus of a rod when the temperature is raised '
 a)doesnot change | b) decreases
¢) increases a lot | d) increase feebly
13.  Which of the following system has state variables system
QW ; SRR
QW . S d) P.T,Q
11-Physics-1
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iVaIue of r—Cp/Cv of 89 hehum and 169 oxygen mlxture S5t

i T R) AR i e Cai ), 1523 ik
) 2718 : ' o dy 7127

i ‘W\'/\"/V\./;Tranps'c;oo-rn” 2 S

¢ 15 Damping force of an oscrllator is, dlrectIY proportional to velocity, then the unit of force constant i

haykgmst i % . b) kg ms-2
c) kgs*l SR d) kg s : : S
A ‘ PART - II b R e
Note Answer any 6 Questions in which Question No.20 s compulsory, e ( 6){2:12}.. j

16. What are dimensional constants? Give examples
17.  What is projectile? Mention types.
18. Define One Newton, -
19.  What is Kinetic energy? Obtain its equatlon
20. A satellite is revolving around the earth at a height of 1600km F nd the acceleratlon due to gravrty
" attained by the satellite.
21, Which is having more elastlcrty rubber or steel? Why?
.22, "What is black boady? :
-23.  What are degrees of freedom? ) - ' : |
24. What is doppler effect? : : ke s

: . PART - III
Note: Answer any 6 Questions in which Question No. 29 ls compulsory. (6x3=18) -~
25. State law of Triangle, :

: 26, Two forces are acting of 2kg are F, = = Bl 8] % 7k F2 = 3| 4] + 3k f'nd acceleration of a body

27.  Explain conservative and non conservative forces with examples.

28.. State parallel axis theorem. Give its equation.
-29. "Find the relative density of a solid sphere having radius 15cm and mass 0. 038kg
30. - What is change of state? Give: examples,

31, Whatis resonance? Give examples.

32, State laws of vibrations of stretched string.

33, Explaln how acceleratron due to gravity due to altitude. -

: PART -1V g £
Note : Answer all the Questmns (5x5=25)
-34.  Derive an expression to determine time period of a srmple pendulum usung dimensional analysis.
¥ (OR)
i) State Lami's theorem. ") Explam the methods to reduce fnctlon
35. Show that the prOJectory of a inclined projectile is'a parabola,
(OR)

: Calculate the minimum speed at top and bottom points in a vertical crrcular motion..
- 36.  Explain the dimensional elastic collision. :
(OR)
i) Obtain the relation between angular velocity and angular momentum
ii) Find the acceleration of a roling body in an inclined plane.
37. 1) Explain the variation of ' g' due to depth. -

i) Calculate 'g' value at a height 200km above the earth and depth 200km below earth. At what |

point 'g' less? - (OR)
‘ i) Obtain Mayer's equation, - ii) Calculate work done in lsothermal process.
38. Derive an expression to calculate termlnal velocity of a solid sphere in a high visivous liquid.
(OR)

Derive an expression for tota energy of a simple harmonic oscillator.

b11-Physics-2
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10.
11.

12.

13

14.

15

o Wath an mcrease in temperature the viscosity of |Iqud and gas , respectively will -

b) Decrease and increase
~¢) Increase and increase
- d) Decrease and decrease

a) Circle b)hyperbola

C_OOse_the correct answer ey e e
Ifa: wlre is’ stretched to double of its orlgmal Iength then the stram in the WIFE s s e iR s
a)'.__l S -jb)2 TR it '-c)3 S e d)‘4 :

) lncrease and decrease

The kinetic energy of the satellite orbiting around the earth is

a) Zero b)greater than kinetic energy  c)less than potential energy d)equal to potential energy.
In a horizontal pipe of non-uniform cross section , water flows with a velocity of 1 ms’ 'at a point where the
diameter of the pipe-is 20 cm. the velocity of water (ms™) at a point where the diameter of the pipe is
a) 8 b)16 c)24 d)32

A planet moving along an elliptical orbit is closest to the sun at distance of r; and farthest away at a distance
r;. If vy and v, are linear speeds at these points respectively. Then the ratio v4/V, is

o). 2 b2 () o ()

Gl
The ratio of the acceleration for a solid sphere {mass m and radius R) rolling down an incline of angle 0
without slipping and slipping down the incline without rolling is

a) 7:5 b)2:5 c)5:7 d)2:3

The speed of the center of a wheel rolling on a horizontal surface is V, . A point on the rim in level with the

center will be moving at a speed of

a) Vo b)zero )2V, d)V2 Vo
The dimension of is

Ho€o
a) Force b)time c)length d)velocity

A body of mass 1kg is thrown upwards with a velocity 20ms™ . It momentarily comes to rest after attaining a

height of 18m. How much energy is lost due to air friction?

a) 40J b)30) c)20J d)10J
Which of the following physical quantities cannot be represented by a scalar?
a) Momentum b)mass c)length d)acceleration

Force acting on the particle moving with constant speed is
a) Alwayszero  b)need not be zero c)aiways non zero d)cannot be concluded

Work done by a simple pendulum in one complete oscillation is

a) Zero b)/mg c)mg cosB d)mg sin®
A man weights 80kg . He stands on a weighting scale in a lift which is moving upward with a uniform
acceleration of 5ms? . What would be the reading on the scale?

a) 800N b)1200N c)zero d)400N
The length of a body is measured as 3.15m. If the accuracy is 0.01m , then the percentage error in the

measurement is

a) 35% b)1%
The condition for the distance and displacement of a moving object to be equal is when the body moves

c)0.28% d)0.03%

alonga
c)parabola d)straight
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i : : e PART wil]
wer. any 6 of the following qUestions Q. No 20°is COmpulsory

tate the number of sngmﬂcant flgures In the fo“oW“"]g : o
£l 800800 - m)s313.07 T L 1i)0.0006032 w2 68 i 10 - S
_;;;»_Def'ne angular d:splacement and angular. veloclty : T 5
;';D:stmgu:sh between static fﬂCthl’l and kmetlc fnctlon
] ':‘.,fDefme co-efficient of restitution. ;

. Find the moment of inertia of a dlsc of mass jkg and radius 50cm about the axis passing through the center; :
~ .and perpendicular to the plane of the disc. v .
Distinguish between gravitational potential energy and gravitational potential,
- Will the angular momentum of a planet be conserved ? Justify your answer.
- What is Reynold’s number? Give its significance,

- Define poisson’s ratio.

PART - 111

1. Answer any 6 of the following questions. Q.No : 32 compulsory.
25. Explain the use of screw guage and vernier caliper in measuring smaller distances.

6x3=18

26. Derive an expression for centripetal acceleration.

27. Show that in an inclined plane , angle of friction is equal to angle of repose,

28. State and explain work-energy principle (Theorem).

29. State and prove parallel axes theorem

30. Explain in detail the Eratosthenes method of finding the radius of earth. S
31. State Hooke’s law and verify it with the help of an experiment.

32. Water rises in a capillary tube to be a height of 2.0 cm .How much will the water rise through another

capillary tube whose radius is one-third of the first tube?
Obtain an expression for the excess of pressure inside a (i)liquid drop (ii)Liquid bubble (soap bubble).

PART -1V

33.

Iv. Answer the followings. 5x5=25

34. (a)i)Write the rules for determining significant figures.
ii)Iin a submarine equipped with sonar, the time delay between the generation of a pulse and its echo after
-1

reflection from an enemy submarine is observed to be 80 sec. If the speed of sound in water is 1460 ms

what is the distance of enemy submarine?

[OR]
(b)Explam in detail the triangle law of addition.
(a)Explain the motion of blocks connected by a string in (i) vertical motion (ii)Horizontal motion.
[OR]
(b)Explain the motion in a vertical circle and obtain an expression for minimum speed at the highest--

point and minimum speed at lowest point.

36. (a)Explain why a cyclist bends while negotiating a curve road? Arrive at the expression for.angle of bending

35.

for a given velocity.
[OR]
(b)Discuss rolling on inclined plane and arrive at the expression for the acceleration and velocity.

(a)Explain the variation of g with latitude.
[OR]

(b)Derive the time period of satellite orbiting the earth.
(a)Derive Poiseuille’s formula for the volume of a liquid flowing per second through a pipe under streamlined

37.

~

flow.
[OR]

(b)Describe the construction and working of venturimeter and obtain an equation for the volume of
liquid flowing per second through a wider entry of the tube.

https Iwww trbtnpsc.com/2018/06/latest-plus-one-11th-study-materials-tamil-medium-english-medium-new-syllabus-based htm_l



. "a) 0.007 m* b)2.64x10%kg ~  c) 0.0006032 m*
o Match Listr with l.lstII and select the correct answer ol

_»FIN: ‘.fﬁ‘ﬂwsién TEST - '2019 JExam !w-n
: 2-30 Hrs XI PHYSICS "
- PART-I ..

‘ 1 Answerall ﬂre questions. ' 2. Choose the bestanswer s
‘Which of the followmg has the highest number of significant ﬁgures7 AT

: . ListX _ o e LIGRYES S AR
L A) Acceleration | - e TR ) TMUEET] e e Ay e e
" B) Pressure (or) stress e 5 DY [MIITAA el D) s B
C) Moment of Inertia = - <) 1 1B el BRSO Rt =) e o
- ..D) Co-efficient of viscosity e s Y (MBS ] s Cod) TG
* Which of the following can be represented by a scalar? _ ; ey
a) Force . b) Momentum - ¢) Mass ‘ d) Torque I
Two masses m, and m, are experiencing the same force where m,<m,. The ratio of thelr ‘
acceleration a /a 1s s ;
=.a):l b) Iess than 1 C) greater than 1 d) all the above
One electrical unit is ' , Vot iy el ot
@)1WHr  b)1KWHr c) 1MW Hr d) 1 GW Hr
If the force acts at the reference point, the torque is L
a) Maximum b) Minimum c) Zero - d) Infinite

‘Assertion : Moon has no atmosphere.
Reason : The escape speed of gases on the surface of moon is much Iess than the root mean square

-~ speeds of gases due to low gravity.

30,
E
12.

- 13,

- €) Increase continuously

a) Both Assertion and Reason are true
b) Assertion is true and Reason is not the correct explanation for Assertion

c) Both Assertion and Reason are false d) Assertion is false and Reason is true
A Hollow Sphere is filled with water. It is hung by a long thread. As the water flows cut of a holeat

the bottom, the period of oscillation will

a) First increase and then decrease b) First decrease and then increase

d) Decrease continuously

~ Pict the odd one.

a) Sound waves b) X rays ¢) Radiowaves d) Light waves

When a.uniform rod is heated, whnch of the following quantity of the rod will increase

a) Mass b) Welght ¢) Center of mass d) Moment of Inertia
-Density of water is maximum at

a) 0°C b) 1°C ¢) -1°C d) 4°C

The principle used in Hydraulic lift is ‘

a) Boyle's law b) Charle's law c) Pascal's law d) Newton's law

Match List I with List IT and select the correct answer, "A_man is standing in the elevator

ListX - ., LstIl
A) When the elevator is at rest - 1) Apparent weught is less than actual weight N-m(g a)

B) When the elevator is uniformly
moving upward or downward

C) When the elevator is :

accelerated upwards - 3) Apparent weight of the man is equai to his actual weight (N=maq)

D) When the elevator is ' e

accelerated downwards

- 2) Apparent weight is greater than his actual weight N=m(g+a)

- 4) Apparent weight is equal to actual weight

A B C D
a) -\ 4 1 2
by 1 2 3 4
c) 2 1 4 3
d) . 3 4 2 1

11-Physics-1
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o Nate Answer any 6 Quest
125, - What are the

ay VAR
" Note: '_AnsWér any 6
- What is an epoch?

. State Kelvin-Planck statemen

. Whatar
. From a pointon the gr
- between the tree and

. Under what condition wi
. A weight lifter lifts @ mass o

 b) Pure trahslation-
d)Nomeotion -~
" must leave a vertical loop Of radius.

) Rotation-and Tranéléitiénf o = d)] ‘
‘What is the minimum velocity with ‘a body of mass 'm

so that it can complete theloop?i i b muli s G e
2 o , e c)r-——ng TRl R d)\/a—R_ :

b)Y BgR et
g st PRART = I e s ins iy
Questions in which Quest_ion ‘No.20 is compulsory.
f sound and loudness of sound.: )

t of second law of thei'modynarhics.‘ '

rface tension of a liquid?
f a tree is seen to have an angle of elevation 6

a point is 50m. Calculate the height of the tree.
between velocity and average velocity?

Il a car skid on a levelled road? Toet :
f 250 kg with a force 5000N to the height of 5m. What is the

e

_Define intensity 0

re the factors affecting the su W e
ound, the top 0 0° The dgstancg

What is the difference

workdone by the weight lifter? - _ o

Give any two examples of torque in day-to-day life.

| , ~ PART - III e A Lo
ions in which Question No. 29 is compulsory. oatd ) (6x3=18)

limitations of dimensional analysis. : _
es with the speed 30 m/s, atan angle

26, State Newton's Three Laws. :
27.. . Inthe cricket game, a batsman strikes the ball such that it mov
- 30°withthe horizontal. The boundary line of the cricket ground is located at a distance of 75m from
' the batsman. Will the ball go for a six. ' v - b 0 A B i
28. Write the various types of potential energy. State the formulae.
29, Explain the types of equilibrium with suitable examples.
30. State Kepler's Three Laws. B et R .
' 31. Which one of these is more elastic, steel or rubber? Why? . = . el : O :
~32. Arefrigerator has Cop of 3. How much work must be supplied to the refrigerator in order toremove
. 200] of heat from its interior. : : i Pl
~ 33, What is meant by Resonance? Give an example.
GO et , PART - IV ke ~ien? e
" Note : Answer all the Questions. =5 A O (5x5=25) .
i £ 8 What do you mean by propagation of errors? Explain the propagation of errors in addition and
 multiplication? - (OR) s o i e
What are concurrent forces? State Lami's theorem. ity
.35. Derive an expression for escape speed. oA
: i : (OR)
o Derive Mayer's relation. s ., :
36. Discuss the properties of scalar and vector products. (each five points)
) : ; (OR) -
i State and explain Work energy principle. '
37. State and prove Parallel axis theorem. »
~ State and prove Bernoullis theorem for a flow of incompressible, non-visious and steamlined flow of liquid.
38. i) Write down the postulatesof\Kinetic theory of gases. (any 6 points) ) .
motion and angular simple harmonic motion. (any 2 points) -

ii) Distinguish simple harmonic
e , - ~ (OR) : L . -
Describe Newton's formula for velocity of sound waves in air and also discuss the Laplace's correction.
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